rekursion Arbeitsweise‘

Demonstration der Arbeitsweise
einer endrekursiven Funktion

am Beispiel
Umkehren einer Liste
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rekursion Arbeitsweise'

Funktionsaufruf:
(umkehren '(ab cde) ()

umkehr
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(rest ...) (cons ... ... )
anwenden
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Funktionsaufruf:
(umkehren '(b c d e) '(a))
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(rest ...) (cons ... ... )
anwenden
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Funktionsaufruf:
(umkehren '(c d e) (b a))

liste umkehrliste
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(rest ...) (cons ... ... )
anwenden
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Funktionsaufruf:
(umkehren '(d e) '(c b a))

liste umkehrliste
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(rest ...) (cons ... ... )
anwenden
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Funktionsaufruf:
(umkehren '(e) '(d c b a))

liste umkehrliste
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e (rest ...) (cons ... ... )

anwenden
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Funktionsaufruf:
(umkehren '() '(ed c b a))

liste umkehrliste

e d C b a
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fertig !
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Funktionsergebnis ausgeben
(umkehren '() '(ed c b a))

Ergebnis
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